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»READ THE INSTRUCTIONS
CAREFULLY AND ANSWER
THE QUESTIONS . SHADE THE
CORRECT OPTION IN YOUR
SHEET.




Q1. A bottle contained 500 ml of oil. The
bottle fell and 100 ml of oil was spilt.How
much oil was left in the bottle?

51
500 ml
4 |
400 ml

o 0 w »




Q2. Acow gives 11 | of milk everyday.
How much milk will she give in a week?

Ao 191
B. 241
c. (71
D. 96 |




Q3. Ramesh filled 4 | of petrol In his
scooter. How many ml is this?

A. 400 ml

3. 4000 ml
c. 40 ml

D. 40000 ml




Q4. The capacity of a medium sized
bucket Is about 15 .

Ao ml
B. |
C. kg
D. @




Q5. The capacity of a water tank
kept on your roof is 20 .

Ao ml
B. |
C. kg
D. @




Q6. To convert 3l to ml, by 1000.

A.  Multiply
5. Divide

c. Add

D. Subtract




Q7. How many 200 ml glasses can you

fill from a pitcher that contains 2 |
of fruit punch?

A. 10
5. 20
c. 5
D. 4




Q8. The capacity of glass in which you
drink milk is closest to .

A 1 ml

5. 11

c. 101

D. 250 ml




Q9. A cup can hold 200 ml of water.
How much water can %2 a cup hold?

A. 500 ml
B. 100 ml
c. 25ml

D. 50 ml




Q10. If 51500 ml 1s added to 500 ml,
the answer Is

51

6 |
51600 mi
5500 ml

o 0 ® »




Answers

1.D 6. A
2.C 7. A
3.B 8.D
4.B 9. B

5.B 10. B
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